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- ‘ Subject.- Maths
FTT Time . 2Y4HE [ps, HaT Clasg - 91X qutfes
.l . [ M
w%-% T (Multiple Choice) — | MTQ] f:
(s,'."':f"-?”‘.%(fi -B)ﬁx-ﬂaiﬁﬁﬁm- )
What Will be the distance of A boint (4, -3) from X-axis -
{4)4; Unit (B) .

| 3 TS Unn((_‘)?sa?rélmu(n) 1 318 Upi
(i) afe (g4, 19) %y:ax+3ﬂ@ﬁ%ﬁammmf b

f a equation Y=ax+3 than 3 i5 -
(A) 3 .. (B) 4 (C)s (D) 6
(iii) fi“ﬂﬁ! ¥ 3 3 AT B & The sum of 3 angles of triangle is
(A) 1800 (B) 3600 (C) 9qo (D) 2400
Civ) Ush 99 =1

its side will be -

49 Cm (D) 240 Cm
he mean of first 5 Natural mumber are
(A) 3 (B) 4

(C) s (D) 6
(vi) %ﬁﬁﬁwmﬁmﬁmw

The Prohahilily of certain even s -
| (C) -1 (D) v
(vii) aﬁﬁ:ﬁmﬁmaﬁwﬁawa%ﬁmvﬁmm—
1 triangle is a then Primeter will be
(A) a (B)a’s3 () &,

(A) mrh (B) 4nr (C) 3nr . (D) 4 mr3

in the blanks of the following : 8
(i) 8\ = gy :-.?“TTITI The value of 81%is ...

(ii)'f?m'mxzzatx:a&imzxaﬁ«{ﬁ .............. ﬁ?'
The distance between the graph ofeqn. x = 2 & Ix =-
(iii) AZTZ y 4y +4 y=2MWHA ... '?.s g
> Of 1al y*+y+4 at y=2 IR
‘he value of polynomia - +4 1
;]iu) qfz x 9 y sfrae ey a1 dl x+y e & @
If x and y is irrational nmplzcr tl]t{l X+y are L“]"
_ HA HAT ] i = cm %)
AR Bl x AR L.
(( "') 1} ’2 13, x, 9 &1 HYI={? q1v4 13 1-;'. {:Ilﬁ:hcn i
The : thinctic mean of 7. 5. 12 % . .{;rh‘dr ......... et 2
fhe arith -‘.{ 51 Veeki T 1l 3 S e e
W 4 B P . ' retfinge . 8 aess
( “; ) i'l }tl rown thin the Flt'()l};lhllll}* of petng,
A die s th .

f.(.f-
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Vo
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6.
7.

" Eve

(2) CJ-iX-4

(viii) D T TS TEIE BV e EUE FE TG ¢ | A Polynomial

of digre two is calld a .........

fire @1 I TR/ TEA § ST Give the answer of following in True/False

(i) W St wEm U sfe wem A ¥
real number is an irrational number

(i) 1@ y = | TRE y-A¥ F TR e T .

The graph of the equation y=1 is a straight line paralle]l to y-axis

(iii) =g B0 H G 0 s A H0 e R

The complement of an acute angle is acute

(iv) R T 928 5 TEEd | 67,50 F B0 H TEAI H A Tl € |
To construct an angle 67.5° with help of rular and compass
(v) FFS # WG BONEH B T | Range of data can be negative.
(vi) (2, 3) T 2x4y = 7 T TA R

(2. 3) is the solution of the equation 2x+y=7_
(vil) 19 S AT = NYER &6l
Volume of cuboid = Base area x_height
(viii) TR Afe IR 217 916 YU IgAE Fead ¢ |

Mode is the value of which occures most frequently in a set

A4 W9 (Very Short Answer) : 1x8=8
() fg (2, 14) R gy I =Tl TF @ w1 Wi fatew)
Give any one equation ¢ line passes through the point (2, 14)

(ii) FEIT x243x%4+3x+1 HI x+1 { 9M 1] W T wifs
Find the remainder when polynomial x*+3x?+3x+1 is divided by x+1.
Gi) fo1 ¥ Q @l w-g W

Fed AT L1423 =70° B A 22
F1 °F fafEu | Two lines are inter-

sect each other in following figure.
If £1+.3 = 70° then find £2

(iv) T 31" A 1 =™ 6 A }, A &1 e Ja i |

A solid sphere whose diameter is 6cm. find the volume of sphere.
(v) @27 Find the median 1, 12, 6, 10, 4, 8,4, 1 FT ATEg JE HIfAC
(vi) T g9 ¥ Pl fhad 93 814 & | How many surface in a cuboid.
_'@ﬁhﬁﬁ@mﬂmmma@ﬁwmn
g Two coins are tossed together. Write down all out comes.

(viii) fgu Tu o3 § =9 x |1 WA oo

a8 FITAY I In the given figure find

the value of an angle x. ‘

I1x8=8

X

70° X
R, 5-16 (THSAUH® FH) (5-16-Short Answer) :  2x12=24
1 - -
—E FEH gftagatn fafE@q i (Rationalise the denominator)

TS FT0 (Factorise)-  3x%-x-4
33 ¥ p/q ¥9 = fafEU | Write the form of p/q of 33



(3) CJ-IX-4
g. TH 7 Al T {@EUS EiTE WA T FRigWTSIE e T @

AR fﬂﬁﬁ"{l Plot a line segment of 7cm and construct a perpen-
dicular bisector of it and measure it.

o. ok W % MER B 3 Fel T FeE 4 FeHl BT N IHH A 7N

ST%a I Eﬁﬁlﬁ:l The radius of cone is 3cm and vertical height is
m then find the curved surface area of cone. .

10. %caa’fmﬁ 1500 TRERY 1 ag=sar T4 faRan T AR e eiws
for@ fIT M1 1500 families with two children were sclected ran-
domly and the following data were recorded.

ofan & wrefFal $Y §E&A No. of girls in a family | 2 1 0

gfEar i &4 Number of Families 475 814 211
mgﬁnﬁmmﬁqﬁmmmﬁaﬁ Compute the

Probability of a family choosen at random having.
(i) 2 wrsf®wdi &1 (2 Girls) (i) T @EH & (1 Girl)
11. TR x=1, y=1 THEO 2x+y=k FT T T @ K F A7 J1q D¢
Find the value of K, If x=1 and y=1 is a solution of equation 2x+y=k
12. U g Ao % STUR Y uRfy 132 ¥ T S 25 . ¥ IN@

3MEdT F1d HIfSC 1 The circumferance of base of cylinder is 132 cm
and its height is 25cm. Find the volume.
13. ®2ZH 6, 8, 5, 9, 3, 7 &t wfeaet fAf@T | Find the median of 6, 8, 5,9, 3.7
14. 75° & IO H1 T WHR q T4 | HifS
Drawan angle of 75° with the help of compass.

15. 40 TSRFTEd F) 39% A A Fwrawe %1 (. #) gt Frafatea
21 7l F=Ue 5 A T Fiiga ARERA 92 WO SAEA 1 The

distance (in k) of 40 Enginers from their residence to their place of

work were found as follows. Construct a grouped frequency distribu-
tion table with class size 5.

A 18 20 25 -
7y sy x & F T ) Ak
& > sy 35 U5 T

16. <17 Arpfq H POQ Ush Tl 7 | fs101 OR $

_—

@ PQ W &= ¥\ f&T0 OP & OR &%

9= 1§ 0S T o4 fem R fag wifeg
In the given figure POQ is a line. Ray OR is
perpendicular to line PQ. OS is another ray ly-
ing between ray OP and OR Prov that

e

p o
£ROS = 1 (£QOS - £POS) °

2
17. @& favs ABC & w1 wifsta fasd BC=7 @+t ~B=75°3R AB+AC=

13 J&t €11 Construct a triangle ABC in which BC=7cm £B=75" and
AB+AC= 13cm 39ar/or ' 3




{4) CJ-IX-4

Wﬁwﬁmﬁmﬁﬂaﬁmweﬂﬁl.?ﬁ:
Conslrucl an equilatral triangle given its side is 6cm.

18. U FIYSIHR Y@UE 1 J3{l 1 A 3:5:7 T 9 3G 9fTAMT 300

H T 1 5™ Jyave &l FTRA FT BT The sides of a triangular

plot are in the ratio of 3:5:7 and its perimeter is 300 m. Find its area. 3

19. Frfafaa Yarol o 2R w8 o syafya fem T @ 1 3fg sl

Weq® 63 Bl A1 x 1 WM 1A BT | The following observations have
ben aranged in ascending order. It the median of the data is 63. Find
the value of x 29, 32, 48, 50, x, x+2, 72, 78, 84, 95 3

0. ﬁw’lf“ammﬁwmms@amﬁﬁmﬁfﬁaﬁmm%l

A School there are five sections of class IX. The number of studnts in each
section in given below : (i}ﬁ'l'("ﬂl m =1 frefaa ST aren g2 3d wifa)
Construct a bar graph represending this data.(ii) Name the section in which

the number of student is maxinmm. T8 Y ¥ faenfdg) +1 gem afusFaq 2

O9 (Section) A B C D| E

farenfofdi &t T (No. of Student) | 40 | 48 | 52| 45 30
AAQT/or

Yar 1 . = 5 THE A PR fagalt B E IR W aﬁa—d

HIIT  In the cortesian plane use the scale lcm. = 5 unit on the axis ~
and draw, P (30, 17); Q (-13, 20); R (18, 0): T (0, -12); 5(-22, 15)
21. T T A s GHIFHTO F TG FIAC | Draw the graph of linear

equation m two variable x+y =4  3yergi/or 4

T TR A T & feu frafafaa §- 1w fearde = e s
¥. ® 3R 3% 9% Ft 30 & foru wfa s = feuan 5 5. % 1 aft
¥ = T 30 x fF @ AR g9 fFva y 5. @ @ 35w aw
Feteror fef 3R STet el T The Taxi fare in a city is as

follows : For th firs %mmetcr the fare is Rs. 8 and for the subsquent
distance it is Rs. § Taking the distance covered as x km. and
total fare as Rs. y. Write a linear equation for this information and
draw its graph.

12. W& TAIVEHR Tt i IfaT 50,000 FHE U 1 ¥, 92 39 I F T
SR TRTE FA9: 2.5 WL 3 10 Wi} 9 suE Ster I FIAU) The
capacity of a cuboidal tank is 50,000 It. of water. Find the breath of
the tank, if it is length and depth are respectively 2.5 m and 10m. 4

AYdr/or
T V% I THYSHE &§7% 208 o7 At ¥ 1 397 fords 9 14 A
%raaramrﬁm (i) YR N =0 (i) 9 =1 oA TS SAHA
Covered surface area of con is 308cm? and its slant height 14 ¢cm. find
ts : (1) Radius of base (11) Total surface area of cone

23. W& fayd ABC =i to Fifoe fomd BC= 8 ¥, 3t /B=45" 3iix
AB-AC=3.5 94t @1 Construct a triangle ABC in which BC= 8cm
ZB=45" and AB-AC=3.5cm. 4 CJ-0%-4




